

数学STEP

氏名「 _____ 」

次の計算をなさい。ただし、1つ式を入れてから答えなさい。

$$(7x - 2) + (x + 9)$$

=

=

$$(4a - 4) - (-a + 4)$$

=

=

$$(-8x + 3) - (2x + 1)$$

=

=

$$(5y + 8) + (3y - 3)$$

=

=

$$(3x - 9) + (2x + 6)$$

=

=

$$(a - 3) - (-4a + 9)$$

=

=

$$(-x + 7) - (x + 4)$$

=

=

$$(6y + 8) + (3y - 5)$$

=

=

$$(4x - 3) + (-5x + 8)$$

=

=

$$(-a + 6) - (3a + 1)$$

=

=

$$(-5x + 9) - (3x + 1)$$

=

=

$$(8y - 3) - (8y + 7)$$

=

=

$$(2x - 7) + (7x + 4)$$

=

=

$$(a - 6) - (-3a + 8)$$

=

=

$$(-9x + 3) - (x + 9)$$

=

=

$$(2y + 8) + (-7y - 2)$$

=

=